2023 Fall Math 191 Formula Sheet for Final Examination
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Differential: y = f(x) = dy = f'(x) dx
Linear Approximation: f(x) = L(x) = f(a) + f'(a)(x — a)
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Trapezoidal Rule:
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Simpson’s Rule:
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b d
Area: A = fa [ytop(x) - ybottom(x)] dx A= fc [xright(y) - xleft(y)] dy
Volume of Revolution:
Disk:  dV = m(radius)? X thickness
Shell:  dV = 2m(radius) X (height) X (thickness)
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Centroid of a Flat Plate:

Average Value:  y,, = — ) b y(x) dx
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Arc Length of a Curve: s = f: 1+ (Z—z) dx

Surface Area of a Solid of Revolution Rotating around the x-axis:
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